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[BlE: #N2EFIPRIEYEER (Regression)

 — f — Y C MRy (response)
ZEHE: PERE®% — RAEUEIEH
BT FERERE (NEB, BR) —— B

2R B (8] B, X=X, BE —— 2 iA B [8]




Bl Hz=ZE3IPRIoRERE (Classification)

e
(classifier)
U — —- y - % (label)
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[bli: Zi%Mm]Y3 (Linear Regression)

punEEs fu@=w-o@)  wolomwl 6= (Lal
ZHEEMRESH  FRRE FHiiEE

Rk F={fw:weR2} (NBMES)
B A R ET
-TFJ\QEL_H;I- LOSS(QZ, y,w) = (fw(SL') — y)2 5%k (squared loss)
' O M=% (MSE, mean
TramLOSS(W) " | Drrain| Z(m,y)EDtrain Loss(:z:,y, W) squared error)

argmaxInp(ylx, w) =argmin >, (y-— ¢(x)w)*
W W (xyeD
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[bli: Zi%Mm]Y3 (Linear Regression)

L E min,, TrainLoss(w)
—% Definition: gradient

The gradient V, TrainLoss(w) is the direction that increases the training loss the

most.

" | : .
—g Algorithm: gradient descent—

Initialize w = [0, ..., 0]
Ferl = 1, S ,T: epochs
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ZRIaRE: RENBELIET

REFNIZEER
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HAinput: x Hitoutput: y =1
b "EANASH + R YE] AEHEEL
AR, FZR13.67%". MNAEABER: |
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KRS HRAZKM DRSS

Score(x) = SHEHERIIINFD
If Score(x) > 0:
5} —
Else:
BIAinput: x y =
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—ANE Al F
- RIEENMFTENRHEA

BAx:

FUIN 1.0 .
RS EN 0.8 gi):\)\*fﬁﬁuﬁz)w.ﬂi
HAF=R 3.3 HAEE4H

BEFIZR13.76%

Score(x) =1.0%x45—-08+4—3.3%x0.1376 >0
y=+1



M ReR: B

y = sign(Score(x))

Score(x) = wy-dp(x)g+wy-p(x)1 + .. +w,-p(x)4
=i wi - p(x); = wie(x)

$RE1= ¢ (x)o (e.g., 1)
THIE2= ¢ (x), (e.g., x[1]=FWA)
$EE3= ¢ (x), (e.g., x[2]=RFRE
or log(x[2])
or log(x[2]/x[1]))
FEd = ¢ (%) (EftERTxHIRRZR)
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Fean:

Wy OO — pareo- ._‘_Iﬁ . /'E
TREH Wy 10 »Score(x) = 1.0 * FFREE — 1.5 * FUYTAN

FUTN W, -1.5

< 1 u - n
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HS4E
Wo 0.00 S Score(x) = 1.0 « B¥EREER — 1.5 * FEUIN

F PN W, -1.5

Score(x) > 0
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Sco = YR E & =
re(x) = wy + wy * TEREEN + w, * YN + ws « TTERFIZR
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XTMNE ZHENR?

O — MR KR RTS8
s BXTREANINE KRB ZHEVE

“FUINALT + T4 T1, N7 5T + 535K2.873,
F%13.67%" FZ20%”




DK EABER

O 753 5 FfE=R

X = ELKUM 57 + 5sk4 M x =“FUWANT7.57 + TT5K
. FE13.67%" 2.875, FF20%"

FEPEBRREEHT " CCEENHTHE M.
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EAR: MIIEREIE o 2 =) & A

O JIZREFE: N> IME{ (x, y
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= XIS IBEERAY G

If P(y = +1|x) > 0.5:
5} —
Else:

EIANinput: x 9§ =



RERIDST

Score(x) = wy - dp(x)g+ ...+ wy-p(x)g4 B
=i wi - p(x); = wie(x)
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TN IR Score(x)?

Score(x) = w'g(x)

< >
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Score(x) = wo - dp(x)g+ ...+ wy-d(x)g = w'p(x)
-—

- 0O O;O + oo
F{1an{a] 45
- 00,4+ 00 ‘:~ ; ",.
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—
P(y = +1|x)

B#MRLT0 2 1 25



ZARE T : PR

O 1Z15R%Y (Logistic, tBfRsigmoid, logit)

sigmoid(Score) = 1+ g-Score

B = 2 00 +2 %

Selylellel O 0.12 0.5 088 1

(Score)




Py = +1]x) = sigmoid(Score(x)) = 1_|_e—tqu>(x)
Score(X)
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ZEEE: BEASHAIRE

O ZEEFRER AR
Score(x) = wy + w, * EXEE + w, * FUWN = wp(x)

Wo -2 Wy 0 Wy 0
Wl + ] W1 + ] W1 4 3
W, -1 w, -1 W, _3
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ZIRET: SEIFERENAF

- BEESENRENZ MR YT
y =w'¢p(x) + €, e~N(0,0%)

> pylx,w) = N(y; wig(x), 0%)

et AEIE

Pylxw)= -

pm—
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BIB: ARG

Maximum likelihood estimate w.r.t. w:  f Ak {I AL 1T

arg max p(y|x, w) = arg max In p(y|x, w)
w w

Maximize log-likelihood estimate w.r.t. w:  XTZ{LLIR

argmaxlnp(ylx,w) arg max In l_[ p(y|x, w)
w (x,y)eD

= arg max In l—[ . — 262(y $x)wy

w (x,y)eD V2mo?
—argmin >} (y - $(x)w)’

w (x,y)eD

SR T e A DR = B ML TR




ZHEET: FEIRRESN

A

317.96k 635k -1
866.1k 305k +1
136.08k 45k +1

95.21k 100k -1




ZHEET: FEIRRESN

TREH  FUIA ] TR FUWA =
866.1k 305k +1 317.96k 635k -1
136.08k 45k +1 95.21k 100k -1

| ] | J
| |
P(y=+1|x,w)= 1.0 P(y=-1|x,w)= 1.0
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ZHEE T FIHRARMUAGTESZEE )T

SER TR A

-
X1, V1 317.96k 635k 1
X3,V 866.1k 305k +1
X3, V3 136.08k 45k +1
X1, V4 95.21k 100k -1
ew) = Plyilxsw) P(y2[x2,w) P(ys[x3,w) P(yalx4,w)
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HP(.%' | Xi, W)
i=1
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T A A T eEHIwo, w1, w2, EFEMRMERAMN

N
— Hp(y’b | Xiy, W
=1

£(wy=0, wi=1, w,=-15) = 10-°

I £(wo=1, wi=1, w2=;1.5) =10-° /
* = [ R B LT
é 4 B AACALSRREL £( )
= 3 =( =1, =05, =-15
il = ( )
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P3O #E EFARIEMLE

O SAAMARMAET

.2 X P o] B AYwWo, W1, Wa
B AL R *5(

'—100;
e | | P(y; | xi, w)
W01W1aW2
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ZAEE YT XNEURIETT

P(y = +1|x) = sigmoid(Score(x)) = o(w'¢p(x)) = 1+e—1wT¢(x)

WF S N MR, B0 (G0l U (ikelihood) i
max [(w) = HP(lexz w)
ESHREIA log- hkehhoodﬂafr
max 11 (w) = Z log (P (i x;, w))

w) = 25011+ 7,) - log(P (v = +11x, w)+ (1~ 7))

log(P(Yi - 1|xu W))
1

=3, (1+ ) - log(o(w'p () )+ (1~ ) - log (1 — o(w'(x)))




ZERE T EBEN U ARREE

1 Px)(1+y; — 20(w'Pp(x)))
= qu(x)i(l +yi —2P(y; = +1|x;, w))
i=1

\ )
|

LAY

A; = 0, A; = 1> wiifn
P(y = +1|x;,w) K% P(y = +1|x;,w) 5
~ —1=» W‘FIZE% Ai ~ 0,

P(y = +1]x;,w) Tk P(y = +1|x;, w) RE




P3O #E EFARIEMLE

O ZHEEEANBELET

#HERN R

#ERET MR

init w=0. t=1

; (t)
while [ 7EWAII> € g cmmezs
forj=0,...D A

. . A [ \
partialljl = >~ n,6x) (1l = +11 - Ply = +1] x;, w))

w; ) & wi + n partiallj]
t<Et+1



P3O #E EFARIEMLE

wrkat w = 0 (SEBEVAHEKL)
Miaf t=1
While [|[VI(w)]| > €:

#HERN R
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O S—MERTHXBYNE—MAIXEE, TAXSHREFTRHITXE

ZiEE] )RR
input f' output
feedback
| kmmEN
input HIFEAMNEER, 47$¢¢%?E, ’F] TN EH
GIFREERR ﬁ%kﬂ%s\ FIRAN. THEERZE

output FIFARREGEN
feedback NR:ESES
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Z5EE MR R SRIES

it ol & e

% 45 B B
input f output
feedback
Hix/8A: f (R340 )

it H: fo/input/output/feedbacks® ik

¥ 3. <input, output, feedback)
Fait: 0 (R f)

PERT: BEEBEEA KA AME?

M%7 fog. input. output, feedbacko
>3 B E AR E AR Kk FEE] A

45 input, MLE E I feit Houtput,
P53 BHEPESEAE LA KkM?

A F 4 4E<input, output, feedback>i,

%f R HE,

> 44 : <input, output, feedback)>
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